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Name_________________________________________

Quiz 2 Oct. 13, 2016
1.
(20 pts) Fill in each blank with an  H  or an  L  to indicate whether each of the following 
characteristics 
is found or associated with a surface center of High or Low pressure.


clockwise winds______        rising air______        clear skies______        converging winds______

2.
(5 pts) You feel cold when you step out of a shower on a dry day because energy is being taken and 
carried away from your 
body by which of the following energy transport processes?


a. conduction

b. convection

c. EM radiation

d. latent heat

3.
(5 pts) The earth reflects about 30% of the sunlight energy reaching it.  If this increased to 40%, would 
the earth's temperature  INCREASE  DECREASE  or remain the  SAME. 

4.
(5 pts) In order for air to be transporting "hidden" latent heat energy, what must the air contain?

5.
(5 pts) Because of ______ the mean global average surface temperature on the earth is 60o F instead of about 0o F.


a. the high specific heat of water   
b. the tilt of the earth   


c. latent heat energy transport   

d. the greenhouse effect

6.
(10 pts) Everything else being equal, the coldest winter temperatures would be found at a 
location 
surrounded by  OCEAN  LAND.  The hottest summertime temperatures would would be found at a 
location surrounded by  OCEAN  LAND.

7.
(5 pts) Which of the examples below is visible light?


a. λmax (bulb) = 1 µm

b. λmax (earth) = 10 µm

c. λmax (sun) = 0.5 µm

8.
(5 pts) The contour lines connecting points


on a surface map with the same pressure values are called ___________________________.
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9.
(5 pts) A thermometer left outdoors on a cold day is reading 40o F.  If the wind starts to blow would the reading on the thermometer  INCREASE  DECREASE  or remain the  SAME?

10.
(15 pts)  Would the coldest air be found at  POINT A  or  POINT B?  Is 
the front moving 
toward POINT A  or  POINT B?  Does the figure show a  WARM  or  COLD  front?

11.
(10 pts) Dry ice changes directly from a solid to a gas.  Is this called  DEPOSITION  or  
SUBLIMATION?  Does this change TAKE  or  RELEASE  energy from(into) the air?

12.
(5 pts) A factor of two increase in the _______ of an object causes a sixteen times increase in the amount of electromagnetic radiation emitted by an object.


a. temperature

b. size (volume)

c. weight

d. density

13.
(5 pts)Which one of the following would produce fast winds on a surface weather map?


a. converging winds

b. cold northerly winds

c. closely spaced contours


d. warm southerly winds
e. widely spaced contours
f. diverging winds
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14.
(15 pts) Which of the temperatures at right is the coldest _______,      a. 100o F        b. 100o C        c. 0o F

the hottest _______,  the melting point of ice _______.
(fill in
        d. 0o C        e. 200o F        f. 300o K

the blanks)
15.
(5 pts) The earth's surface is warm enough that it emits more EM radiation than it receives from the sun.  
Which of the following supplies most of the energy needed to bring the surface into energy balance?


a. absorption of UV light by the ozone layer
b. heat stored in the earth's interior


c. emission of IR light by the atmosphere
d. heat stored in the earth's ocean

16.
(5 pts) When energy [image: image2.png]


E is added to an object, which combination below would result in the smallest temperature change [image: image4.png]


T?


a. large mass, high specific heat

b. large mass, low specific heat


c. small mass, high specific heat

d. small mass, low specific heat

17.
(5 pts) Rising air, sinking air, and ocean currents are all examples of energy transport by  CONDUCTION     CONVECTION     CONVERGENCE    DIVERGENCE

18.
(5 pts) An object that feels cold to the touch probably has _______.


a. low specific heat      b. low thermal conductivity      c. high specific heat     d. high thermal conductivity

19.
(15 pts) Ozone and oxygen absorb most of the ULTRAVIOLET  INFRARED  light in sunlight.  Most of the visible light in sunlight is  ABSORBED  TRANSMITTED by gases in the atmosphere.  Water vapor and carbon dioxide are greenhouse gases because they are able to absorb certain wavelengths of  INFRARED  ULTRAVIOLET  light.
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20.
(5 pts) Calories are units of _________________________.

21.
(10 pts) The figure at right is a cross sectional view of a  COLD  WARM


front.  Is air mass B moving toward the  LEFT  or the  RIGHT?

22.
(10 pts) Ultraviolet light is a  SHORTER  LONGER  wavelength. and LOWER  HIGHER  energy form of electromagnetic radiation than infrared light.

23.
(5 pts) Everything in this room, the walls, floor, ceiling, people, even the air are emitting


a. ultraviolet light      b. infrared light      c. visible light      d. microwave radiation

EXTRA CREDIT (you can earn up to 10 pts)
1.
(6 pts) Air expands when it  RISES  SINKS.  Expanding air  COOLS  WARMS.

2.
(6 pts) Winds blowing from the  NW  SW  and relatively  DRY  MOIST  air are found behind a cold front.
3.
(5 pts) Sunlight is _______.  

a. mostly ultraviolet and visible with a little infrared radiation       b. essentially all visible radiation


c. essentially all infrared radiation       d. mostly visible and infrared with a little ultraviolet radiation
The following equations may help with some of the questions on this quiz:
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